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pyth xy =sqrx +sqry
sQrx =X *x

- fEfafl

pyth34 =>»sqr3+sqré
= (3*3) +sqr4
>9+sara
>9+@44)
>9+16
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reverse [] =[]
reverse (x:xs) = reverse xs ++ [x]

[J++ys=ys

(X:xs) ++ ys = x : (xs++Ys)
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rev xs = shunt [] xs
shuntys [] =ys

shunt ys (x:xs) = shunt (x:ys) xs
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« O-fCik

g(n) = O(h(n))
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lg(n)] <= M [|h(n)]
THAISBEHMDFET D
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T_reverse(x) = O(n”2)

T_rev(x) = O(n)

! o T_f(x): fxDFEICET SBHRTYTH
m + YRRXDRSENET D
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fst (x, y) = x
fst (sqr 4, sqr 2) = fst (4*4, sqr 2)
> fst (16, sqr 2)
D622 gk
> fst (16, 4)
> 16
fst (sqr 4, sar 2) = sqr 4
> 44 =OMERIE

.'E > 16
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« BRIER (K-> THEFBEAFIELL
CENHB,
answer = fst (42, loop)
loop = tail loop
answer = fst (42, loop)
= fst (42, tail loop)
= fst (42. tail (tail loop))
> ..
Answer = fst (42, loop)

@ > 42
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- RIMVERE
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ERMICENTHIENTES,
— HE2 . RELEDD-OHIZREMIZRHETRITH
X, BRHEITHEN, > BIEFE
+ AR #9i%(applicative order reduction)
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sqr (4+2) > sqrb6
> 66
> 36

sqr (4+2) D> (4+2) * (4+2)
> 6*(4+2)
2>6*6
> 36

e L UIUMMERWLSE. ... DO

p

sqr (4+2) > (Lxi) (4+2)

> (Lxit) 6

> 36
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« EFICRKX . KXOLAREERBTLIOTIIE H
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head (map sqr [1..7])
= head (map sqr (1:[2..7]))
= head (sqr 1 : map sqr [2..7])
= sqri
> 1"
>1
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sum = foldl (+) 0
sum [1..1000]
2 foldl (+) 0 [1..1000]
2 foldl (+) (0+1) [2..1000]
> foldl (+) ((0+1)+2) [3..1000]

>
OB > foidl (+) (. (0+1)+2)+..+1000) 1 O(n)sELEH
= (... ((0+1)+2)+...+1000)
>

= 500500

sum [1..1000]
= => foldl (+) 0 [1..1000]
RAEH > foldl (+) (0+1) [2..1000] ~
[ ] = foldl (+) 1[2..1000] O(l)pﬁﬁ

> ..
= 500500
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s HHEETIV . BRINERN
strictZ ALVCERNIBEF =419 5

— strict f e D HY
s FTIRLOICeZBEMERMICEHHT S
« RICfEERTS
strict sqr (4+2)
= sqr6

o) >
I.E > 36 strict f x = seq x (f x)




